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IMPORTANT QUESTION FOR PSPCL+PATWARI

1. Out of a sum of Rs.850, a part was lent at 6% SI and
the other at 12% SI. If the interest on the first part after
2 years is equal to the interest on the second part after
4 years, then the second sum is

A) Rs.350 B) Rs.280
C) Rs.170 D) Rs.220

Solution: (C)

Let the first part be x then second partbe
(850 — x)

(xx6x2)/100 = [(850 — %) x 12 x 4]/100
X = 850 x 4— 4x

5x =850 x4

X = 680

Then second/part 850-680=Rs 170.

2. A certain sum of money amounts to Rs.1300 in 2
years and to Rs. 1525 in 3.5 years. Find the sum and the
rate of interest.

A) Rs.850, 10%




B) Rs.900, 12%
C) Rs.800, 13%
D) Rs.1000, 15%

Solution: (D)

1525 - 1300 = 225 for 1.5 years (3.5.— 2)
So for one year 225/1.5 = 150

then for 2 yrs interest is 150 +150 = 300
Then principal 1300 - 300 = 1000

Now 150/1000 x 100 =15%

3. A person borrows Rs.:3000,for 2 years at 5% p.a.
simple interest.He immediatelylends it to another
person at 6% %p.a for 2 years. Find his gain in the

transaction per year.

A) Rs.42 B)\Rs.39.25

C) Rs.35\D) Rs.37.5

Solution: (D)

Gain in 2 years = [(3000 x 25/4 x 2/100)-
(3000 x 2 x 5)/100)] 375 — 300 = 75.




Gain in 1lyear =75/2 =37.5

4. If the simple interest on a certain sum of money is
4/250f the sum and the rate per cent equals the
number years, then the rate of interest per annum is:

A) 4% B) 5%

C) 8% D) 10%

Solution: (A)

Let the principal be Rs x.
Then the Sl = 4/25x

Rate of interest = Time
r=(100 x 4/25x)/(x x«)r2
= 400/25

r=20/5= 4%

5. Alsum was put atisimple interest at a certain rate for
5 years. Had it'been put at 2% higher rate, it would have

fetched'Rs. 450 more. Find the sum?
A) Rs 4500
B) Rs 3200
C) Rs 3800




D) Rs 4200

Solution: (B)

Px(r+2)x5/100 - (P xr x5)/100 = 450

5P (r+2-r)/100 = 450

P = Rs.4500.

6. Stephanie borrowed some money at 6% forthe first 4
years, 8% for the next 6 years and 11%for the period
beyond 2 years. If the total interest paid by her at the
end of eleven years is Rs 5640, how much money did
she borrow?

A) Rs 10000

B) Rs 6000

C) Rs.8000

D) Rs 9000

Solution: (B)

Let the sum be P. Then,

(Px6x4)/100 + (P x 8 x6)/100 + (P x 11 x 2)/100 =
5640.

24P/100 + 48P/100 + 22P/100 = 5640.




94P/100 = 5640
=>P = 6000.
7. A financier lend money at simple interest, but he

includes the interest every six months for calculating
the principal. If he is changing an interest of 10%, the

effective rate of interest becomes?

A) 10%

B) 11.5%

C) 10.25%

D) 12%

E) None

Solution:(C)

Let the sumbe Rs. 100:Then,

S.l. for first 65months = (100 x 10 x 1/2)/ 100] = Rs.5
Next 6months 10% of 5 is Rs 2 is added.

S.l. for last 6 months =Rs. [(102 x 10 x 1/2)/100]

= Rs.5.25

So, amount at the end of 1 year = Rs. (100 + 5 + 5.25)
= Rs.110.25




R =(110.25 - 100) = 10.25%

8. Raghu purchases a coat for Rs.2400 cash or for
Rs.1000 cash down payments and two monthly
installments of Rs.800 each. Find the rate of interest.

A) 80%

B) 100%

C) 110%

D) 120%

Solution: (D)

Amount as a principal for2imonth

= 2400 - 1000 = 1400

At the ratewof r%per annum after 2 months,
Rs.1400,willamount to Rs.1400 +

{(1400 x r x2)/1200%,12}

Total. amount for 2 installments at the end of second
Month Rs:800 + (800 + {(800 x r x 1)/100 x 12})
Then, 1400 + (2800 x r)/1200 = 1600 + (800 x r)/1200
R=120%




9. A borrows 5000 at simple interest. At the end of 3
years, he again borrows 3000 and finally pays 2340 as
interest after 6 years from the time he made the first
borrowing. Find the rate of interest per annum.

A) 4%

B) 5.5%

C) 6%

D) 4.5%

E) None

Solution: (C)

Let r be the rate of interest

(5000 x 3x)/100 +(8000 % 3x)/100 = 2340
150x + 240x =2340

X=6

10. Arnay fixesithe rate of interest 5% per annum for
first 3'years and for the next 4 years 6 percent per

annum andfor the period beyond 7 years, 7 percent per

annum. If Mr. Kumar lent out Rs.2500 for 11 years, find
the total interest earned by him?

A) 1650 B) 1565
C) 1840 D) 1675




Solution: (D)

5% for 3 years = 15%
6% for 4 years = 24%
7.5% for 4 years = 28%
67% of 2500 = 1675

11. A certain sum of money amounts to rupees 2900 at
4% per annum in 4 years. In how many years will it
amount to rupees 5000 at the sameéwate?

A) 30 B) 25

C)22D) 18

Solution: (B)

2900 = p + p.x (4/200) x 4,p =2500
5000 = 2500,+ 2500 % (4/100) x t
5000 = 2500,+ 100t

t=25

12. A certain’sum is invested for certain time. It
amounts to Rs.600 at 10% per annum. But when
invested at 5% per annum, it amounts to Rs.400. Find
the time.

A) 40 years




B) 75 years

C) 50 years

D) 60 years

Solution: (A)

600—-P = (P x 10 xt)/100 — ()

=> 6000 — 10P = Pt

400-P = (P x 5 x t)/100 —- (Il)

=> 8000 — 20P = Pt

Equate (I) and (I1), 6000 — 10P. = 8000 = 20P

=>P =200

Substitute P in (I) then

400 = (200,x 5:x t)/100

=>t =40 yrs.

13. A lentRs.8000m0 B for 2 years and Rs.6000 to C for 4
years on simple interest at the same rate of interest and
received Rs.1840 in all from both of them as interest.
The rate of interest per annum is

A) 4.6% B) 8.4%

C) 6.3% D) 10%




Solution: (A)

Rate of interest be r%

Then

(8000 x 2 x R)/100 + (6000 x 4 x R)/100 = 1840
160R + 240R = 1840

400R = 1840

R=4.6% p.a

14. A Man lends Rs.1540 for five yearstand*Rs.1800 for
four years. If he gets Rs.1788'as interest on both
amounts, what is the rate of interest?

A) 10%

B) 12%

C) 15%

D) 8%

Solution: (B)

Let the interest rate be r%

We know that,

S.I=PTR/100

=> (1540 x 5 x r)/100 + (1800 x 4 x r)/100




= 1788
=>r =178800/14900 = 12%

15. Two persons P and Q borrowed Rs.40, 000/- and
Rs.60,000/- respectively from R at different rates of
simple interest. The interest payable by P at the end of
the first four years and that payable by Q at the end of
the first three years is the same. If the total'interest
payable by P and Q for one year is R$:8, 400/- then at
what rate did Q borrow the moneyfromR?

A) 8

B) 10

C) 12

D)9

Solution: (B)

40000 4 %R1/100,=60000 x 3 x R2/100
R1=(9/8) R2

1 year interest

(40000 x 1 x R1)/100 + (60000 x 1 x R2)/100 = 8400
4R2 + 6R2 =84

Then substitute 4(9/8 R2) + 6R2 = 84




=>R2=8

16. R borrowed a sum of RS. 6000 from T at the rate of
14% for 2 years. She then added some more money to
the borrowed sum and lent it to S at the rate of 18% of
simple interest for the same time. If R gaine@ 'Rs.650 in
the whole transaction, then what sum did hellend to S?
A) Rs.6427.12 B) Rs.8015.41

C) Rs.6472.22 D) Rs.7541.2

Solution: (C)

Let the money lent to Sthe Rs.x

Therefore,

x x (18/100) %2 — 6000 x (14/100) x 2 = 650

=> X =.6472.22

17. The rate ofjinterest on a sum of money is 4% per
annum for the first 2 years, 6% per annum for the
period next@4 years, 8% per annum for the period
beyond 6 years. If the simple interest accrued by the
sum for a total period of 9 years is Rs.1680, what is the
sum?




A) Rs.3000

B) Rs.5000

C) Rs.4700

D) Rs.5500

Solution: (A)

Sl at the rate of 4% for 2 years,
=(P x4 x2)/100 = 8P/100

Sl at the rate of 6% for 4 years,
(Px6x4)/100 = 24P/100

S| for the next 3 years
SI=(Px8x3)/100 = 24P/100
Total SI ="8P/100 +24P/100 + 24P/100
=>P =(1680 x'100)/56/= 3000

18. S hasdent'some money to A at 6% per annum and B
at 8% per annum. At the end of the year he has gain the

overall interest at 7% per annum. In what ratio has he
lent the money to A and B?

A) 3:8 B) 1:2

C)2:5D)1:1




Solution: (D)
6 8

1 1
=1 : 1

19. What is the ratio of the simple interest earned by
certain amount for 4 years and 8 years at the same rate
of interest?

A) 3:2

B) 2:1

C) 1:2

D) 4:3

Solution: (C)

Ratio =4PR/8PR=1:2

20. Ifia principahbecomes amount of Rs.14500 at

2/14/7%raté of interest in 3years at simple interest.
Find the S.lon principal?

A) Rs.4250 B) Rs.4300
C) Rs.4400 D) Rs.4350




Solution: (D)

R=2/14/7% =17

S.I remains same in all years so...
(P)7+1+1+1=10(A),

10-7 = 3S.1

10 = 14500

1 =1450

3 =4350

21. If the principal become 6 fold'on Sil in 10 years then
find in how many yearsiit wilhkbe12fold?
A) 24 years B) 22 years

C) 12 years D)\20 years

Solution: (B)

6P — P'=5P interest

5P =10 years

P =2 years

11 P = 22 years




22. A sum becomes triple in 6 years at S.l. The same
sum will become 19 times in how many years?

A) 50 years B) 48 years

C) 54 years D) 57 years

Solution: (C)

SI=A-P=>A=3Passum triples
SI=3P-P=2Pin 6 years

In 19 times SI = 18 P—54 years (2: 6 hence, 18 = 54)
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1. Find the simple interest on Rs. 5000 at
8% per annum in 3 years.

2. Rs. 5000 amounts to Rs. r at

simple interest. What wi Rs.“7000 in
2 years. %
|wf money becomes 3 times

years. Find the Rate of




4. A certain sum of money becomes 35
times of itself in 17 years. Find the Rate

of Interest.
5. A certain sum of money b %&xes
of itself in 4 years. Find the 9& est.

Q2
N

oney becomes 41/40

4 years. Find the Rate of




7. At what rate per annum will a sum of Rs.
5000 amount to Rs. 6000 in 4 years?

8. In what time will Rs. 1200 earn Kerest
of Rs. 240 at 5% per annum? \Q

9. In whattime does a s ey becomes

4 times of itself at si terest rate of 15%
per annum.
10. In what time do m of money

times of itself at simple interest
um.

time it will become 9 times of itself.




12. If the simple interest on a certain sum of
1 . 3 ..

money after 6 L yearsis of the principal,

then find the rate of interest per annum.

13. If the simple interest o x

sum of
money for 2 years is on f the principal,
then find the rate of interést annum.
14. A sum of mon omes 9 times of itself

in 11 years at pletinterest. In what time it
will beeN es of itself.
15. As \woney becomes 5 times of itself

in5vye simple interest. In what time it
will becomes 7 time of itself.




16. A sum of money is lend at 15% per annum
1

for 3 > years and same sum lends for 5 years at

15% per annum. If the difference of S.I. from

both cases is Rs. 144. Find the sum lend.

17. A sum of Rs. 2400 amoupts,t SQSO in4
years at simple interest. rate of interest
is increased by 1% it wo mount to how

much?

®
18.4Fthe'difference between the simple
intére tain sum of money for 4 years
at 2 E annum and the simple interest on

the same sum for the same period at 3% per
annum is Rs. 60, then find the sum




19. A sum was put at simple interest at a
certain rate for 4 years. Had it been put at 2%
higher rate, it would have fetched Rs. 56 more.
Find the sum.

20. A sum of Rs. 4100 amounts to % in5
years at simple interest. If the#ate erest
mount to

had been increased by 2%,
how much? %

21. The s. 2,100 became Rs. 2,352 in
2 year®at'simple rest. If the interest rate is

de eas& » what is the new interest ?




22. A sum of Rs. 5000 is lent out in two parts in
such a way that the first part at 4% per annum
and second part at 5% per annum. If the total
interest received after two years is Rs. 440.
Find the sum lent at 4% and 5%?

23. A sum of Rs. 6000 is le \

o partin

%’ and second
| ihnterest received

d the sum lent out

such a way that the firs
at 7% per annum. If
after 3 years is Rs¢

in each part.

. ,\/
24.%\5. 13000 is lent out in 3 parts in
such a that Ist Part at 5% for 6 years, lind

at 4% for 5 years and llird part at 10% for 4
years. If the SI Received from each part is
equal then find each part that lent.




25. A sum of Rs. 10,000 is lent out in two parts
in such a way that Ist part at 5% p.a. and lind
part at 6% p.a. If the S.I. Received on sum
given at 5% is Rs. 76.50 more than the S.I. on

sum given at 6% in 1 year. Find the sum lend
at 6% per annum? K

26. A Father decided to %20,000
between his two sons. chha way that they

both receive sam ungafter the age of 18
years. Cugrent@age ofhissons is 12 and 14
years.‘ kof interest is 5% find the
shaQ\ S sons.

27. A sum of Rs. 1586 is divided among three
such parts that amount obtained on these
parts of money after 2, 3 and 4 years,
respectively at the rate of 5% per annum




remains equal. Find such three parts of the
sum.

28. The ratio of Principal and Amountis4:5in
a certain time. It will become 5 : 7 after 3

years. Find the rate of interest.\Q

oUnts to Rs. 756 in 2

29. A sum of mon
years. Find the

.81
years ancthRs.873 in
Princim\%( interest?

30. A sum of money Amounts to Rs. 1016 in 3
years and Rs. 1304 in 7 years. Find the Rate
and Principal?




31. If a certain sum of money at simp

interest amounts to Rs. 5184 in 2 ye &d to
Rs. 5832 in 3 years, what is t u e
rate of interest?

A

to the sum after 10 years,
ime Rs. 1000 will become
annum.

1. Rs. 1200
2. Rs. 8960




3.4%
4. 200%

5.6 = %.
4
6.5/8

&
8. 4 years \

9. 20 years Q

10. 20 years %

11. 20 years

12: ecy‘k'\,

15. 7% years

16. Rs. 640
17. Rs. 3446




18.
19.
20.
21.
22.
23.
24.
25.
26.
27.

28

29.
30.

31.

Rs.
Rs.
Rs.
Rs.
Rs.
Rs.
Rs.
Rs.
Rs.

.62
: %28, s. 506
)
&R\

Rs

Rs.

3000

700

7076

210
2000, Rs. 3000
3500, Rs. 2500
4000, Rs. 6000
3850
57600, Rs

“Rs 600
. 9%
3888,16%

Q{,%‘




32.162
3
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